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2. Find the absolute extrema of f(x) = 2x3 — 6x — 2 over the interval [-4,0].
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3. Find and classify all relative maxima and relative minima of F(x) = —x3 + 3x2 + 2 . J«s¢-
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4. Over what intervals is f(x) = x3 — 3x + 2 increasing and over what intervals is it decreasing? Justify
your response
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5. Shown here is the graph of the first derivative of a function f(x). Find the intervals where f(x) is . -~ __
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6. Find the location of all inflection points for the function f(x) = —x3 + 4x% — 2 . Justify your answer.
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